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| ERROR DETECTION

~

Q.1. The constable said that (1)/the
prisoner seize a (2)/fully loaded gun
from a policeman (3)/and shot the
prosecutor. (4)/No error (5)

Q1. (2). It should be ‘seized’ or
‘snatched’. The
sentence is in past tense.



| ERROR DETECTION

~

Q.2. It will not be possible for you (1)/ to
catch the train on time (2)/because the
nearest railway station (3)/is at ten
kilometres away. (4)/No error (5)

Q.2. (4)
Remove
‘at’.



| ERRORDETECTION

Q.3. Each of the survivors of the Tsunami
(1)/have been offered free (2)/psychological
consultation to ease their trauma, (3)/by
some of the top consultants. (4)/No gk

Q.3. (2) Use ‘has’ in place
of ‘have’.



| ERROR DETECTION

~

Q.4. Considering about her good
credentials(1)/the manager offered her
a job (2)/in his organization (3)/despite
the lack of experience. (4)/No error (5)

Q.4. (1) Remove ‘about’.



| ERROR DETECTION

~

Q.5. Although he has been (1)/ winning
the elections (2)/all years, this year

his popularity (3)/has substantially
reduced. (4)/ No error (5)

Q.5.(4) It should be ‘*has decreased
substantially’.



! MISSPELT WORDS

Q.6. Their (1)/ has been a series of
abductions (2)/ of young

children (3)/ of the schools in the
All correct (5) 44

Q.6. (1) use there in place of
their



! MISSPELT WORDS \

Q.7. The council (1)/denied having any
hand (2)/in the recently (3)/unearthed
scandle. (4)/ All correct (5)

Q.7. (4) correct spelling is
scandal



! MISSPELT WORDS

Q.8 . He was unable (1)/to give a satisfactory
(2)/ explanation for his absense (3)/from
the meeting. (4)/ All correct (5)

Q.8. (3) correct spelling is
absence



L=

Q9. As the ship was sinking (1)/fast, the
captain (2)/ gave

orders to abandon (3)/it immediately. (4)/ All
correct (5)

Q9. (5) Al
correct



| MISSPELT WORDS

L

Q10. Much (1)/countries are starting to turn
(2)/their attention (3)to new sources
(4)/of energy. All correct (5)

Q.10. (1). Use many in place of
much



I PHRASE REPLACEMENT

~

Q11. We have received many complaints
from customers and have appointed an
auditor to help us identify the reason for
the various delays.

(1) variety of delay

(2) various delay

(3) varied delaying

(4) variety delays

(5) No correction required
11. (2) various

delay




I PHRASE REPLACEMENT

~

Q12. A bank has loans to its own
employees at interest rates
below the rate decided by RBI.

(1) is giving loans to

(2) loans their

(3) can give loans to its

(4) has given loans for its

(5) No correction required

12. (3) can give loans
to its



I PHRASE REPLACEMENT

~

Q13. The Indian banking sector is growing
rapidly and banks are opening much of
branches in unbanked areas.

(1) many branches

(2) numberous branch

(3) mostly branch

(4) as much branches as

(5) No correction req%red

(1) many
branches



I PHRASE REPLACEMENT

~

Q14. Depending on the location you
select, the cost of setting up a new
factory has vary from 50 lakh to 10
crore.

(1) is varied between

(2) will vary from

(3) varying about

(4) could vary around

(9) No correction requireg, @) will vary

from




I PHRASE REPLACEMENT

~

Q15. Although other parts the world 20% of
the farm area is owned by women, in
India women own less than 7%.

(1) If in other parts

(2) However some parts

(3) Where another part of

(4) While in other parts of

(5) No correction required

15. (4) While in other
parts of




I FILL IN THE BLANKS “

~

Q16. Tomorrow’s cricket match will have to

due to bad weather.
(1) played

(2) unorganised

(3) cancelled

(4) won

(5) rained

16. (3)
cancell
ed



I FILL IN THE BLANKS ‘_

Q17. The dumping of waste products
is carefully done by the company
in order fo....... any harm to the
environment.

(1) Avoid

(2) cause

(3) expect 27.

(4) intend

(5) do




I FILL IN THE BLANKS “

~

Q18. No matter where that prisoner
tries to ........ , the police will find
him sooner or later.

(1) imprison

(2) arrest

(3) find

(4) stops

(5) Avoid

18. (5) Avoid



I FILL IN THE BLANKS “

~

Q19. | do not know where Neha lives
because we have been .... of
touch for quite some time.

(1) not

(2) Out

(3) hardly

(4) never

(5) ever

19. (2)
Out



I FILL IN THE BLANKS “

~

Q20. It is a shame that many people
in the world have to live .... basic
necessities such as food and
shelter.

(1) along

(2) including

(3) despite

(4) without

(5) short

20. (4) without



Select the phrase/connector from
the given three options which can
be used in the beginning (to start
the sentence) to form a single
sentence from the two sentences
given below, implying the same
meaning as expressed in the
statement sentences.



21. He was unwilling to go any further. He

returned home.

(i) Returning home....
(ii) Unwilling to go.....
(iii) To go any further.....
A) Only (i)

B) Only (ii)

C) Only (iii) 00:40
D) Both (i) and (ii)

E) None of these

Option B

Explanation: From (ii)
Unwilling to go any further, he
returned home.




22. They saw the uselessness of violence. They

changed their policy.

(i) Seeing the uselessness....
(i) Changing their policy....
(iii) See the uselessness.....
A) Only (i)

B) Only (ii)

C) Only (iii)

D) Both (i) and (ii)

E) None of these

Option A

Explanation: From (i) Seeing the
uselessness of violence they
chanaed their nolicv




23. He lost a large sum of money. He

gave up speculation.

(i) Giving up speculation.....
(if) Large sum of....

(iii) Loosing a large....

A) Only (i)

B) Only (ii)

C) Only (iii)

D) Both (i) and (iii)

E) None of these

Option C

Explanation: From (jii) Loosing a
large sum of money, he gave up
speculation




24. The hunter took up his gun. He went out to

shoot the lion.

(i) Taking up his.....

(ii) Took his gun....

(iii) Shooting the lion.....
A) Only (i)

B) Only (ii)

C) Only (iii)
D) Both (i) and (jii) 00:40

E) None of these

Option A

Explanation: From (i) Taking up his
gun, the hunter went out to shoot the
lion



25. A crow stole a piece of cheese. She

flew to her nest to enjoy the tasty meal.
(i) Flying to steal.....

(ii) Stealing a piece.....
(iii) Enjoying the tasty......
A) Only (i)

B) Only (i)

C) Only (iii)

D) All

E) None of these

Option B

Explanation: From (ii) Stealing a
piece of cheese, a crow flew to her
nest to enjoy the tasty meal.






